

Bernoulli Polynomials

J. López-Bonilla and R. López-Vázquez

ESIME-Zacatenco, Instituto Politécnico Nacional, Edif. 4, 1er. Piso,
 Col. Lindavista CP 07738, CDMX, México

Abstract: We use the generating function of Bernoulli polynomials to prove the Raabe's theorem and after we show that it gives the Deeba-Rodriguez's identity which implies the Namias expressions involving Bernoulli numbers.

Key words: Bernoulli numbers • Namias identities • Deeba-Rodriguez's identity • Bernoulli polynomials
 • Raabe's theorem

INTRODUCTION

The Bernoulli polynomials $B_N(x)$ are generated via the expression [1-5]:

$$\sum_{k=0}^{\infty} B_k(x) \frac{t^k}{k!} = \frac{te^{xt}}{e^t - 1}, \quad (1)$$

therefore:

$$\sum_{k=0}^{\infty} B_k \frac{t^k}{k!} = \frac{t}{e^t - 1}, \quad (2)$$

involving the Bernoulli numbers $B_n = B_n(0)$ [6-11].

Here we employ (1) and (2) to show the Raabe's theorem [2, 4, 12, 13]:

$$m^{n-1} \sum_{j=0}^{m-1} B_n\left(\frac{j}{m}\right) = B_n, \quad m \geq 1, n \geq 0, \quad (3)$$

which allows prove the Deeba-Rodriguez's identity [14]:

$$\sum_{k=0}^n m^{k-1} \binom{n}{k} B_k \sum_{j=0}^{m-1} j^{n-k} = B_n, \quad (4)$$

and for $m = 2, 3$ we obtain the Namias relations [15, 16]:

$$\sum_{k=0}^{n-1} 2^k \binom{n}{k} B_k = 2(1 - 2^n) B_n, \quad (5)$$

$$\sum_{k=0}^{n-1} 3^k (1 + 2^{n-k}) \binom{n}{k} B_k = 3(1 - 3^n) B_n. \quad (6)$$

Raabe's Theorem

From (1) for $x = \frac{j}{m}$:

$$\begin{aligned} \sum_{k=0}^{\infty} \left[\sum_{j=0}^{m-1} B_k\left(\frac{j}{m}\right) \right] \frac{t^k}{k!} &= \frac{t}{e^t - 1} \sum_{j=0}^{m-1} (e^{\frac{t}{m}})^j = \frac{t}{e^{\frac{t}{m}} - 1} = m \frac{t/m}{e^{t/m} - 1}, \\ &= m \sum_{k=0}^{\infty} B_k \frac{(\frac{t}{m})^k}{k!} = \sum_{k=0}^{\infty} \frac{1}{m^{k-1}} B_k \frac{t^k}{k!}, \end{aligned}$$

then (3) is immediate, q.e.d.

We know the property [2, 4]:

$$B_n(x) = \sum_{k=0}^n \binom{n}{k} B_k x^{n-k}, \quad (7)$$

whose application into (3) allows write:

$$B_n = m^{n-1} \sum_{j=0}^{m-1} \sum_{k=0}^n \binom{n}{k} B_k \frac{j^{n-k}}{m^{n-k}},$$

which implies (4), q.e.d. Thus, the Deeba-Rodriguez's identity is deducible from the Raabe's theorem.

REFERENCES

1. Lanczos, C., 1966. Discourse on Fourier series, Oliver & Boyd, Edinburgh, pp: 98.

2. Srivastava, H.M. and J. Choi, 2012. Zeta and q-zeta functions and associated series and integrals, Elsevier, London, pp: 82.
3. Arakawa, T. T., Ibukiyama and M. Kaneko, 2014. Bernoulli numbers and zeta functions, Springer, Japan.
4. Quaintance, J. and H.W. Gould, 2016. Combinatorial identities for Stirling numbers, World Scientific, Singapore (2016) Chap. 15.
5. Pita, C. and V. Ruiz, 2016. Carlitz-type and other Bernoulli identities, J. Integer Sequences 19 (2016) Article 16.1.8
6. Faulhaber, J., 1631. Academiae algebrae.
7. Seki, T., 1712. Essentials of the art of calculation, (1712).
8. Jakob Bernoulli, 1713. Ars conjectandi, Basileae (1713) 97.
9. Ramanujan, S., 1911. Some properties of Bernoulli numbers, J. Indian Math. Soc., 3: 219-234.
10. Carlitz, L., 1968. Bernoulli numbers, Fibonacci Quart., 6: 71-85.
11. Gould, H.W., 1972. Explicit formulas for Bernoulli numbers, Amer. Math. Monthly, 79(1): 44-51.
12. Raabe, J.L., 1851. Zurückführung einiger summen und bestimmten integrale auf die Jacob Bernoullischen funktion, Crelle J., 42: 348-376.
13. Jordan, C., 1957. Calculus of finite differences, Chelsea Pub., New York, pp: 252.
14. Deeba, E.Y. and D.M. Rodriguez, 1991. Stirling's series and Bernoulli numbers, Amer. Math. Monthly 98(5): 423-426.
15. Namias, V., 1986. A simple derivation of Stirling's asymptotic series, Amer. Math. Monthly, 93(1): 25-29.
16. Bucur, A., J. López-Bonilla and J. Robles, 2012. A note on the Namias identities for Bernoulli numbers, J. Sci. Res. (India), 56: 117-120.